NPN SILICON TRANSISTOR
A1l H13003 3DD13003
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| | T.=25 TO-126
Tetg—— -65~150
T—— 150
Pc—— T.=25 40W
Veso— — 700V 1— B
Veeo — 400V > c
3— E
Vego—— — v
l— DC 1.5A
Is 0.75A
B T=25
BVCEO — 400 V| 1c=5mA, 1B=0
1EBO — 10 bA | VEB=9V, 1C=0
HFE 1 10 40 VCE=5V, 1C=0.5A
HFE 2 5 VCE=2V, IC=1A
VCE sat — 0.5 V| 1C=0.5A, 1B=0.1A
1 V| I1C=1A, 1B=0.25A
3 V| 1C=1.5A, 1B=0.5A
VBE sat — 1 V| 1C=0.5A, 1B=0.1A
1.2 V| I1C=1A, 1B=0.25A
1 4 MHz | VCE=10V 1C=0.1A
ToN 1.1 uS Vce=125V, Ic=1A
1tSTG 4.0 M S 1B1=0.2A, IB2=-0.2A
tF 0.7 us RL=125Q
|
H1 H2 H3 H4 H5
10-16 14-21 19-26 24-31 29-40




	HFE（1）
	VCE=5V, IC=0.5A

